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Mr. Schlansky Geometry

Joining Midpoints of a Triangle

1. In the diagram below of MACT, D is the midpoint of 4C, Ois the midpoint of AT, and
G is the midpoint of CT. If AC' =10, AT = 18, and CT = 22, what is the perimeter of
parallelogram CDOG? U
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2. In the d1agraai £ ABT shown below, D is the midpoint of 4B, E is the midpoint of

BT, and F is the midpoint of AC.If AB =20, BC'= 12, and 4C = 16, what is the perimeter
of trapezmd ABEF? IO
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3.D and E are mi pomts of AB and BC respectively. If 4C=x+15and DE =x-3,

C

find the measure of DE . Q n)rngmz/;H O ke Sitly
) =sck IS
X‘V 2x4(5” X=21 /—E:zgl -3
—X S — \ g
X«b = DE
XS

4. D and E are midpoints of AB and BC respectively. If DE =2x+5and AC =7x+1,
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5.In AABC, D is the midpoint of AB and E is the midpoint of BC. If AC=3x-15 and
DE = 6, what is the value of x?
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6. In AABC, M is the midpoint of ABand N is the midpoint of AC. If MV = x+ 13and

BC'= 5x-1, what isjthe length o ? ‘ .
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7. In the diagram of AUVW below, 4 is the midpoint of Uv, B is tLe midpoint of uw, Cis
the midpoint of ¥#, and AB and AC are drawn. U
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8. In the diagram o q’ltfll/l‘a:{tgral tnangle BC shown below, E and F are the midpoints of

AC and BC, respecfively.
If 7= 2x+ 8 and 4B = 7x- 2, what is the perimeter of trapezoid ABFE?
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9. In the diagram of ASRA below, XP is drawn such that ZSKP = /SRA.

If SX =10, §P = 8, and PA = 6, what is the length of K’_R, to the nearest tenth? ]0 %
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10. In triangle ABC below, D is a point on 4B and E is a point on AC, such that DE‘ I BC.

If AD =12, DB = 8, and EC = 10, what is the length of 4C? ¢
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11. In A4BC, point D is on E, and point E is on BC such that DE I AC. If DB = 2,DA =17,

and DF = 3, what is the length of AC? széS Sep Ao R g 2
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12. In triangle ABC, M is a point on AC andNisa point on CB such that MN I AB If

AC =8, AB =12, and CM = 6. Find the length of MN Y~ &
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